Malmo6 BK

Simultan 2019-10-29

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac Par Poéang % Namn MID Klubb
1 11 232 80.56 Jan Clementsson - Osten Svantesson 55627 5765 Malmd BK
2 1 169 58.68  Borje Jarlvik - Berth Rasmusson 4479 5791 Malmd BK
3 2 159 55.21  Olle Persson - Christina Leander 23285 30482 Malmd BK
4 9 158 54.86 Richard Korse - Lena Jénsson 15157 17205 Malmé BK
5 12 156 54.17  Johnny Pettersson - Lars Becklén 11666 80419 Malmo BK
6 7 153 53.13 Ulla Linse - Thomas Davy 27725 60200 Malmé BK - BK Bridgehuset
7 6 144 50.00 Bonnie Clementsson - Tatyana Trendafilova 55628 35574 Malmé BK
7 8 144 50.00 Britt-Louise Ljungdahl - Margot Olsson 47300 47299 Malmo BK
9 13 141 48.96 Lennart Ek - Claes Bengtsson 39185 57112 Malmé BK - BK Bridgehuset
10 4 133 46.18 Jan Eriksson - Bjorn Edvardsson 27765 15757 Malmé BK
11 5 125 43.40  Gerth Ekberg - Inger Ekberg 15677 5710 Malmo BK
12 14 113 39.24  Louise Grandinsson - Ann Lilliengren 20743 15618 Malmo BK
13 3 106 36.81 lldiko Lang - Cecilia Ericsson 28328 20732 Malmé BK
14 10 83 28.82  Christl Everum - Mary-Ann Persson 37342 52220 Malmo6 BK
1 4D Basta kontrakt 2 4842 Basta kontrakt 3 4 K97 Basta kontrakt
Nord v 654 44 O =-420 Ost v Kn10843 44 O D -3500 Syd v4 4% S =130
Ingen ¢ E52 NS ¢ 1052 ov ¢+ ED32
#Kn98754 & ¢ v & NT *E9 & ¢ v & NT #108765 & ¢ v & NT
4 K87 4Knl0954 N 7 3 3 2 2 4DKn75 4E93 N 6 4 105 7 | 4E652 4 D104 N 103 5 6 8
vKn1082 vEK9 S73322 vD v72 S 6 4 105 7 | vK9 vED10865 S 103 5 6 8
+ D874 ¢ KKn9 O 6 109 108 ¢ DKn84 ¢ EK763 O7 8 37 6 | ¢KKNn108764 +¢9 039875
#ED *62 V 6 109 108 #DKn102 #764 V7837€6 |% #943 V39875
4 E632 4 K106 4 Kn83
vD73 v EK965 vKn732
41063 +9 +5
#K103 #K853 #EKDKnN2
Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
8 14 3NV-3 *4 150 120 00| 4 6 4v S= «Q 620 120 0.0|13 2 34DV-1 v4 200 12.0 0.0
9 10 44 O-2 +6 100 100 20|12 7 5¢DO-2 vA 300 100 20| 5 7 4#S= +J 130 100 2.0
2 5 44 0-1 3 50 70 50| 2 5 2vS+2 «Q 170 70 50 3 6 4v0-1 «A 100 8.0 4.0
12 7 44 O-1 a2 50 70 50| 8 14 2v S+2 a7 170 70 50( 1 8 44S-1 +J 50 50 70
4 6 34 O+1 a2 -170 4.0 8.0| 9 10 4¢DO-1 vA 100 40 80| 9 14 3NN-1 vA 50 50 70
3 11 3NV= «9 -400 2.0 10.0| 3 11 4¢ O-1 vA 50 1.0 11.0|10 11 3¢ V= *7 -110 2.0 10.0
13 1 4v V= 4Q -420 0.0 12013 1 3¢ 0O-1 vK 50 10 110| 4 12 3v O= *A -140 0.0 12.0
4 & KD942 Bésta kontrakt 5  DKn1073 Bésta kontrakt 6 462 Bésta kontrakt
Vast vED5 34 N =140 Nord v9 7v ND-5-1400 |Ost v 753 54 O D -1 200
Alla 4 NS + D652 ov + ED1094
»K842 & ¢ v & NT #1042 & ¢ v & NT &D72 & ¢ v & NT
a4Kn6 #ES83 N9 6998 4084 4 E6 NO 2852 4 EK10743 #Kn95 N 0 10100 O
v643 vK82 S969 938 v4 v E85 S02852 vD2 vK S 0 10100 O
+8753 ¢DKn1062 O 3 7 3 3 3 ¢ KKn98 ¢ E104 O 13104 6 11 ¢+ K8 ¢ 62 O 103 3 8 7
#E953 4106 V37333 #D9873 #EKKn65 V 139 4 6 11 #Kn54 #EK109863 V 103 3 8 7
41075 & K52 4 D8
v Kn1097 v KDKn107632 v EKn109864
+ EK9 +73 ¢ Kn753
#DKn7 ®- ®-
Par  Kontr ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
4 12 44 N= +Q 620 9.0 3.0(11 12 4vDS+1 &8 990 11.0 1.0|11 12 54DV -2 v3 500 12.0 0.0
5 7 44 N= +Q 620 9.0 30|13 3 4vDS+1 &8 990 11.0 10| 2 9 54DO-1 vA 200 100 2.0
9 14 4v S= L) 620 90 30(14 10 4v S-1 &3 -100 80 40| 5 1 44V-1 vQ 100 80 40
13 2 44 N= +Q 620 90 30| 6 8 54V+1 v9 -420 6.0 6.0{13 3 5vS-1 aA -50 6.0 6.0
1 8 3NS= 2 600 40 80| 2 9 3NO+1 vK 430 40 80| 6 8 5vS-2 s A -100 4.0 8.0
3 6 34 N= ¢Q 140 20 100 4 7 64V= v9 -920 1.0 11.0|14 10 34 V+1 v3 -170 2.0 10.0
10 11 44 N-1 +Q -100 0.0 12.0| 5 1 6#V= v9 -920 1.0 11.0| 4 7 44 V= v7 -620 0.0 12.0
7 & K87632 Basta kontrakt 8 4« KD5 Bésta kontrakt 9 4 K6 Basta kontrakt
Syd v7 64 S D -3-800 Vast v EDKn854 34 VD-1100 Nord vE8 2NT N =120
Alla + K43 Ingen + Kn97 ov + KDKn84
#EKD & ¢ v & NT «10 & ¢ v & NT #E753 & ¢ v & NT
a- 41094 N80191 410743 #EKn92 N7 8958 4 EDKN93 4742 N8 9 758
v EKKn96532 v D104 S81191 v63 v K92 S77 957 v 109 vD7642 S89 7538
+ Kn1095 + ED6 02 12122 2 410654 ¢ ED 06 5485 ¢ E103 462 O5 467 4
*4 29762 vV 2 12122 2 #432 #ED95 V65485 *K82 #DKn9 V546284
« EDKn5 486 #1085
v8 v 107 v KKn53
+872 + K832 4975
#Kn10853 #KKn876 #1064
Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
6 2 44 N+1 vQ 650 120 0.0|13 4 2¢vyDN+2 2 670 120 0.0|13 5 INN+1 a7 120 120 0.0
5 8 44 N= v4 620 100 20| 7 9 3vyDN+1 4A 630 100 20| 6 9 2¢ N+1 a7 110 80 40
3 10 6vDV-1 «A 200 80 4.0| 3 10 2¢vDN= ¢A 470 80 40| 8 10 3¢ N= a2 110 8.0 40
7 9 44 N-1 v4 -100 6.0 6.0 5 8 3vN+1 a2 170 6.0 6.0[12 14 3¢ N= a2 110 8.0 40
13 4 44DN-1 vQ 200 40 80| 6 2 44V-3 &T 150 40 80| 4 11 4¢ N- a2 -100 4.0 8.0
14 11 4v V+2 *A -680 2.0 10.0|{14 11 34 V-1 vA 50 20 100 1 2 24 0= +K -110 1.0 11.0
12 1 6vyDV= &#A -1660 00 12012 1 24 0= vT -110 0.0 12.0| 7 3 24 V= + K -110 1.0 11.0
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10 4 ED93 Basta kontrakt 11 497 Basta kontrakt 12 4 Kn104 Basta kontrakt
Ost vD3 44 S =620 Syd v 82 6v V =-980 Vast v D54 4v V =-420
Alla + EK643 Ingen + E9862 NS +83
#EK & ¢ v & NT #D853 & ¢ v & NT #75432 & ¢ v & NT
a4 10762 N8 9 5 107 «D # EKn632 N6 6142 « EKD82 4975 N6 7 244
vKKn2 ¢E109765 S 8 9 5 107 vD106543 v EKKn7 S6 6142 v63 vKKn9872 S 6 7 2 4 4
+D1087 ¢9 053734 ¢+ K754 ¢D O7 7 128 10 ¢ 1072 ¢+ E6 O7 6 109 8
#98653 #Knl0 V53734 74 #EK6 vV 7 7 128 10 #E96 D8 V 6 6 109 8
& KKn85 4 K10854 63
v 84 v9 vE10
¢ Kn52 + Kn103 + KDKn954
«D742 #Kn1092 #KKn10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 3 3NS+1 &9 630 120 00| 2 3 4v V+1 ¢ A -450 11.0 10| 2 3 4a V-2 +8 100 12.0 0.0
12 14 44 S= vK 620 100 2.0| 7 10 4v V+1 &5 -450 11.0 10| 1 14 4a V-1 +8 50 9.0 3.0
1 2 34S= v2 140 80 40| 1 14 4v V+2 49 -480 7.0 50| 7 10 34 V-1 +8 50 9.0 3.0
4 11 44 N-1 +9 -100 3.0 9.0|13 6 4v V+2 49 -480 7.0 50|13 6 24 V+1 +3 -140 6.0 6.0
6 9 44 S-1 vK -100 3.0 9.0| 5 12 6v V= ¢ A -980 3.0 90| 8 4 3aV+l +3 -170 4.0 8.0
8 10 44 S-1 &3 -100 3.0 90| 8 4 6vyV= ¢ A -980 3.0 9.0 9 11 4¢ S-4 s A -400 2.0 10.0
13 5 44 N-1 +9 -100 3.0 9.0| 9 11 6y O+1 &J -1010 0.0 12.0| 5 12 44 V= +8 -420 0.0 12.0
13 a74 Bésta kontrakt 14 « D108 Bésta kontrakt 15 4« E10963 Bésta kontrakt
Nord v KKn4 24 O =-110 Ost v DKn753 64 O =-980 Syd vE5 34 S =140
Alla + 10965 Ingen + 1087 NS +D3
#ED95 & ¢ v & NT *Kn2 & ¢ v & NT +Kn1074 & ¢ v & NT
4 KKn9 #E10532 N6 87 45 aE2 aKKn9643 N 2 4511 » K82 «Kn7 N9 66 9 8
v10763 v98 S687 45 v10986 vE S24511 v Kn962 v D873 S96 6 9 8
¢ED3  ¢K7 075586 ¢E943 +K5 O 119 8 1211 ¢ Kn10842 ¢ E65 037744
#Kn84 #10763 V75586 #ED6 #9543 vV 119 8 1211 *2 #E985 V37744
D86 a75 4« D54
v ED52 v K42 v K104
+ Kn842 + DKn62 + K97
*K2 #K1087 #KD63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 5 INN+2 43 150 120 00| 9 5 24 O+2 +Q -170 120 0.0| 9 12 34 N= v7 140 12.0 0.0
6 1 INN= 3 90 80 40| 6 1 44 0+1 a7 -450 8.0 40|11 1 3#S+1 &2 130 10.0 2.0
8 11 INN= a2 90 8.0 40| 8 11 44 O+1 &7 -450 80 40| 7 2 34S= 2 110 70 50
13 7 INS= v3 90 80 40|14 2 44 O+l +Q -450 8.0 4.0|14 3 24 N= +6 110 70 5.0
14 2 INN-1 LY -100 40 80| 3 4 3NV+2 vQ -460 4.0 80| 4 5 44 N-1 &3 -100 4.0 8.0
10 12 24 O = +J -110 2.0 10.0|10 12 44 O +2 v2 -480 1.0 11.0|10 6 3v V= &7 -140 2.0 10.0
3 4 INN- a2 -300 0.0 12.0|13 7 44 O+2 a7 -480 1.0 11.0|13 8 3NS-2 2 -200 0.0 12.0
16 4653 Basta kontrakt 17 a4 Basta kontrakt 18 aKn Basta kontrakt
Vast v Kn82 INTV =-2220 Nord v- 7NT O =-1520 Ost vED 5NT O =-460
oV + Kn6 Ingen 4 Kn9763 NS + K987653
108642 & ¢ v & NT #KKn109732 & ¢ v & NT «D54 & ¢ v & NT
« EKNn98 &4 K42 N20200 « EKKN93 & D85 N8 4000 «ED972 410853 N295 22
vKD97 <E S20200 vE10764 v KDKn53 S84000 vK5 v 10873 S29522
¢8432 ¢ EKD107 O 1113111313 + K5 ¢+ ED4 O 5 8 131213 2 ¢ EKn O 114 7 1111
&Kn #ED93 V 1113111313 &E »386 vV 5 8 131313 #EKn832 #K97 vV 114 8 1111
4 D107 410762 & K64
v 106543 v 982 v Kn9642
495 41082 + D104
*K75 «D54 »106
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
13 8 5¢ O+2 v6 -640 120 0.0| 4 14 44 V+3 *7 -510 11.0 10|11 7 4a V-1 +8 50 12.0 0.0
11 1 3NO+3 a7 690 9.0 30| 8 3 4v0O+3 &4 -510 11.0 10| 4 14 3a V= &4 -140 100 2.0
14 3 3NV +3 *4 -690 9.0 3.0|11 7 6v O+1 v2 -1010 8.0 4.0(12 2 4e V= +6 -420 7.0 5.0
4 5 6NV= &2 -1440 40 80(13 9 74DS-5 vA -1100 6.0 6.0|13 9 4a V= +6 -420 7.0 5.0
7 2 6NO= v4 -1440 40 80| 5 6 7vO= &K -1510 20 100 5 6 44 O+1 vA -450 3.0 9.0
9 12 6NO= v4 -1440 40 8010 1 7vO= aT -1510 2.0 100 8 3 44 O+1 *4 -450 3.0 9.0
10 6 7¢ V= &6 -2140 0.0 12012 2 7vO= &4 -1510 2.0 10.0({10 1 44 V+3 vA -510 0.0 12.0
19 4987 Bésta kontrakt 20 « DKn1064 Bésta kontrakt 21 4 D932 Bésta kontrakt
Syd v 10532 44 S =420 Vast v Kn95 34 N =140 Nord v Kn1042 2# N =90
oV +ED Alla *2 NS +5
#10762 & ¢ v & NT #E1095 & ¢ v & NT #D853 & ¢ v & NT
4654 «KD2 N9 9 8 109 & K97 8 N8 4596 48764  #KKnlO N8 6 56 6
v 764 v EDKn8 S99 8 109 vK4 vE108762 S 8 4 5 9 6 vKD983 v65 S86 66 7
¢ Kn8742 495 04 4423 ¢+ E98743 ¢ Knl06 0497 44 ¢ E ¢ K97632 O57 766
#83 D954 V44423 *K7 #842 V49744 #KKn4 4106 V57766
» EKn103 » E532 s E5
v K9 vD3 vE7
+ K1063 + KD5 + DKn1084
#EKKn #DKn63 #E972
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
13 10 2ND O -4 ¢2 1100 120 0.0|12 8 3NS+1 +3 630 120 00| 1 9 340-3 ¢+Q 150 12.0 0.0
11 2 3¢RDN+1 #J 840 100 20| 1 3 24 N+1 v] 140 80 40(12 3 3vDV-1 *5 100 10.0 2.0
9 4 3NN+1 &5 430 80 40| 9 4 34N= +J 140 80 40|14 6 2#S= vK 90 8.0 4.0
514 3NS= a4 400 6.0 60|11 2 24 N+1 +J 140 80 40| 2 4 240-1 vA 50 6.0 6.0
6 7 2NS+1 46 150 40 80| 514 2¢v0-1 s A 100 40 80| 7 8 2vV= +5 -110 3.0 9.0
1 3 3NN-1 v8 50 10 110 6 7 44 N-1 +J -100 1.0 11.0|10 5 24 V= +5 -110 3.0 9.0
12 8 3NS-1 2 -50 1.0 11.0(13 10 44 N-1 +J -100 1.0 11.0|13 11 2v N-3 &T -300 0.0 12.0
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22 4 Kn7 Basta kontrakt 23 & K642 Basta kontrakt 24 & E6543 Basta kontrakt
Ost v KD3 6NT S =990 Syd v K74 ANT S =630 Vast v D954 ANTV =-430
ov ¢+ ED42 Alla + K5 Ingen *75
&#KKn92 & ¢ v & NT &D542 & ¢ v & NT &62 & ¢ v & NT
1065 a3 N 118 8 1112 & EKNn1087 49 N 10108 9 10 | 8 & KD92 N4 2652
v2 vEKn109854 S 118 7 1112 v Kn96 vE1082 S 10108 9 10 | vE v K762 S42652
¢ Kn109875 ¢ K O05500 +83 ¢ Kn762 032443 ¢ EKn109864 ¢ K2 O 9 107 7 10
»876 #10543 V05500 #1087 #Kn963 V32 443 8754 &#KD3 V 9 107 7 10
4 EKD9842 4 D53 4 Knl107
v76 v D53 v Kn1083
+63 + ED1094 +D3
&ED &EK #EKn109
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 4 6NN= vA 990 120 00|11 6 3NS+2 oT 660 120 00| 2 10 2NO+1 &J -150 110 1.0
1 9 46 S+1 v2 450 50 70| 1 4 3NS= T 600 70 50(11 6 3¢ V+2 &6 -150 11.0 1.0
7 8 44 S+1 v2 450 50 70| 2 10 3NS= a7 600 70 50 1 4 3NO+1 vlJ -430 50 7.0
10 5 46 S+1 v2 450 50 70| 3 5 3NS= s 600 70 50| 3 5 3NO+1 vJ -430 50 7.0
12 3 44 S+1 v2 450 50 70|14 7 3NN= rY:] 600 70 50(13 12 3NO+1 vT -430 50 7.0
13 11 44 S+1 v2 450 50 70| 8 9 3NN-1 v2 -100 1.0 11.0(14 7 3NO+1 v3 -430 50 7.0
14 6 46 S+1 *2 450 50 7.0(13 12 3NS-1 v6 -100 1.0 11.0| 8 9 3NO+2 &9 -460 0.0 12.0
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